A2 sz SH olMtEATA
M ola - % AW AB (SN /S - SE)
CHol: OIAH- Ot DEE QLEMA 017 (SHol: @)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2

Ol AbOkx O 2 A 850,705 744,221 106,484
Xl 276,500
T 574,205

ol & OFx AN Us (s s - sE) 744,053 638,590 105,463
Xl 276,500
T 467,553

OlAab . okx NEE OLHMA AR 654,000 565,838 88, 162
Xl 276,500
= 377,500

Olar BAEHAN THHE D= HE 61,325 63,208 AN 1,883

101 o124 B 26,825 26,408 417

04 J|2tH 22 NHEE 26,825 26,408 417
(@FE=PSgelR=) 23,625
OHAEEHZ4UEEZ) 2,300
O X & F | 900

201 LEt2 Y| 1,500 2,000 A 500

01 At 22l Yl 1,500 2,000 A 500
OZLEAXNZ 1,500

202 04 b] 2,300 2,500 A 200

01 =2LHOHI 2,300 2,500 A 200
OMBIS & XA S 2,300

204 &R = A H| 4,200 4,800 A 600

03 SE8YRAEH| 4,200 4,800 A 600
ool s 50,0003 x7Hx12& 4,200

207 A FOH £ | 26,500 27,500 A 1,000

03 A& FH| 26,500 27,500 A 1,000
OsX M, Al 2 26,500

I MNES 4 € XIIEZ I 25,400 24,590 810

101 @121 15,400 15,090 310

04 JI2ZtH 22 XNHEE =+ 15,400 15,090 310
OExFEQR 13,500
ogwd=Rg=Z|UlRg=) 1,300
OH&EF Y| 600

202 04| 1,500 1,500 0

01 2LHOHI 1,500 1,500 0
OS8XXEAN Z ZE=A 1,500

207 A FIH £ h| 8,500 8,000 500

03 A& FH| 8,500 8,000 500
odlzg, sXM 8,500
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101 Q124 H| 17,850 15,090 2,760
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OHEEHSIUUEEZ) 1,500
OY & FIHy| 600
201 LBt Y| 1,000 1,000 0
01 AP 22| d| 1,000 1,000 0
OREAX S 1,000
202 044 2,500 3,000 A 500
01 2L Y| 2,500 3,000 A 500
OMHIEZE S XA & NE 2,500
207 SO0 ] 10,000 10,000 0
03 A& A 32H| 10,000 10,000 0
OA, sXHM 10,000
AIMUZ NES 4 L LTSI ML 22,925 18,950 3,975
101 2124 H] 11,725 8,750 2,975
04 JI2ZtHIZ22NEE S 11,725 8,750 2,975
(@FEPSgel == 10,125
OHIREH=4UEEE) 1,000
OY & = IHy| 600
202 044l 1,700 1,700 0
01 2L Y| 1,700 1,700 0
OAEXNE MF XA 1,700
207 O 4| 9,500 8,500 1,000
03 A& A2 H| 9,500 8,500 1,000
OAl, sXHM 9,500
KOs I A (2 D-0 A E) 353,000 370,000 A17,000
Xl 176,500
& 176,500
401 AlEHIZL £ 0HY| 258,000 240,000 18,000
Xl 129,000
= 129,000
01 Al&H| 257,000 239,000 18,000
OQIAr - X HIPIIBIAIE B2 257,000
Xl 128,500
o 128,500
03 Al 201 Y| 1,000 1,000 0
OQIAF - Qfx HPI|BIA|AE B2 1,000
N 500
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A2 =9z SAoMGEHTA
M HE2AZH (ML= AHRA)(IIEH/IIE)
Sel: o2y (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
101 14 Hl 55,292 52,241 3,051
03 RIAHAZ 22+ 55,292 52,241 3,051
OAZARH 50,265
OoJlzs 46,7603 2 «261 24,409
o&n= 24,409,000% /1201 & =43 8,137
O&IIZHIMe=
12,204,360 /1200 & 10%+2H 128 2,441
OFs=+¥ 46,7603 «2H x52 4,864
oA 2R+
8, 1363 x150%*2& x10Al 2t+ 101 & 2,441
Ogrest=sEY 65,0883 «2H x 17 2,213
OFE=FItHI 300,000& x2H +23| 1,200
O=saldl 130,000& »2H «12& 3,120
[@FnE=3:] 60,000 «2H 122 1,440
oOHIRLIUUHEER) 50,265, 000& *10% 5,027
Jl=&l 22,920 22,670 250
FAE2Y JI23Hl 17,120 16,720 400
201 Let24d] 6,500 6,100 400
01 At 22/l 5,000 4,700 300
ORA2Y AtR2elt] 5,000
02 =224l 1,500 1,400 100
ORAN2Y 2224l 1,500
202 4l 5,500 5,500 0
01 SLHOIYI 5,500 5,500 0
ORME2E =U0HI 5,500
203 YR =&l 3,320 3,320 0
02 At H R =& 320 320 0
OFRAII&Z 40,000 »8H 320
04 EASIYRFLH 3,000 3,000 0
© 1521 Ol ot 250,000 128 3,000
204 MR F | 1,800 1,800 0
01 ¥R 1,800 1,800 0
(OFEFSy 150,000 =122 1,800
S 29 5,800 5,950 A150
201 Let24E] 5,800 5,950 A 150
01 At 2t 2l 5,800 5,950 A 150
oL+E S 5,800
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